

$$x^0 \underline{dx^1} \underline{\otimes} \dots \underline{\otimes} dx^a + \sum_j^{1|a} (-1)^j \underline{dx^0} \underline{\otimes} \underline{dx^1} \underline{\otimes} \dots x^j \dots \underline{\otimes} dx^a = \det \begin{array}{c|c|c} x^0 & dx^0 & \dots & dx^0 \\ \hline x^j & dx^j & \dots & dx^j \end{array}$$

$$\underline{\alpha|x} \underline{\star} (\underline{\beta|y}) = \underline{\alpha\beta + xy} | \underline{\alpha x + \beta y}$$

$$\Pi_1 \ni \frac{1}{2} \underline{1|x} : x \underline{\dot{x}} = 1$$

$$c = \frac{1}{2} [11 \quad 0 \dots 0] = \frac{1}{0} \Big| \frac{0}{0}$$

$$\bar{c} = \frac{1}{2} [1 - 1 \quad 0 \dots 0] = \frac{0}{0} \Big| \frac{0}{1}$$

$$X_c^{1/2} \ni [00 \quad v^1 \dots v^a] = \frac{0}{\underline{\dot{v}}} \Big| \frac{v}{0} : v = v^1 \dots v^a$$

$$s_v = 0 \Big| \frac{1 - v \underline{\dot{v}}}{1 + v \underline{\dot{v}}} \Big| \frac{2v}{1 + v \underline{\dot{v}}} \in \mathbb{S}^a$$

$$\frac{(1 - v \underline{\dot{v}})^2}{(1 + v \underline{\dot{v}})^2} + \frac{4v \underline{\dot{v}}}{(1 + v \underline{\dot{v}})^2} = \frac{1 - 2v \underline{\dot{v}} + (v \underline{\dot{v}})^2 + 4v \underline{\dot{v}}}{(1 + v \underline{\dot{v}})^2} = \frac{1 + 2v \underline{\dot{v}} + (v \underline{\dot{v}})^2}{(1 + v \underline{\dot{v}})^2} = 1$$

$$d \frac{1}{1 + v \underline{\dot{v}}} = \frac{-2v d \underline{\dot{v}}}{(1 + v \underline{\dot{v}})^2}$$

$$\text{LHS} = -2 \frac{v^k d v^k}{(1 + v \underline{\dot{v}})^2} = \text{RHS}$$

$$\underline{dv^1 - v^1 f v d \underline{\dot{v}}} \underline{\otimes} \dots \underline{\otimes} \underline{dv^a - v^a f v d \underline{\dot{v}}} = \underline{1 - f v \underline{\dot{v}}} \underline{dv^1} \underline{\otimes} \dots \underline{\otimes} \underline{dv^a}$$

$$\underline{dv^1 - f v^1 v d \underline{\dot{v}}} \underline{\otimes} \dots \underline{\otimes} \underline{dv^a - f v^a v d \underline{\dot{v}}} = \underline{dv^1} \underline{\otimes} \dots \underline{\otimes} \underline{dv^a} - f \sum_i \underline{dv^1} \underline{\otimes} \dots \underline{\otimes} \underline{v^i v d \underline{\dot{v}}} \underline{\otimes} \dots \underline{\otimes} \underline{dv^a}$$

$$= \underline{dv^1} \underline{\otimes} \dots \underline{\otimes} \underline{dv^a} - f \sum_i \underline{dv^1} \underline{\otimes} \dots \underline{\otimes} \underline{v^i v^i d v^i} \underline{\otimes} \dots \underline{\otimes} \underline{dv^a} = \underline{dv^1} \underline{\otimes} \dots \underline{\otimes} \underline{dv^a} \overline{1 - f \sum_i v^i v^i}$$

$$x^0 \underline{dx^1} \otimes \dots \otimes \underline{dx^a} + \sum_j^{1|a} (-1)^j \underline{dx^0} \otimes \underline{dx^1} \otimes \dots \otimes x^j \otimes \dots \otimes \underline{dx^a} = \overbrace{\frac{-a}{1+v\check{v}}} \underline{dv^1} \otimes \dots \otimes \underline{dv^a}$$

$$x^0 = \frac{1-v\check{v}}{1+v\check{v}} = \frac{2}{1+v\check{v}} - 1 \Rightarrow \underline{dx^0} = \frac{-4v\check{v}}{(1+v\check{v})^2}$$

$$x^j = \frac{2v^j}{1+v\check{v}}: \quad 1 \leq j \leq a \Rightarrow \underline{dx^j} = \frac{2\underline{dv^j}}{1+v\check{v}} + 2v^j d\frac{1}{1+v\check{v}} = \frac{2\underline{dv^j}}{1+v\check{v}} - \frac{4v^j v\check{v}}{(1+v\check{v})^2}$$

$$\overbrace{\frac{a}{1+v\check{v}}} x^0 \underline{dx^1} \otimes \dots \otimes \underline{dx^a} + \sum_j^{1|a} (-1)^j \underline{dx^0} \otimes \underline{dx^1} \otimes \dots \otimes x^j \otimes \dots \otimes \underline{dx^a} = \frac{1-v\check{v}}{1+v\check{v}} \underline{dv^1} - \frac{2v^1 v\check{v}}{1+v\check{v}} \otimes \dots \otimes \underline{dv^a} - \frac{2v^a v\check{v}}{1+v\check{v}}$$

$$-4 \frac{v\check{v}}{(1+v\check{v})^2} \otimes \sum_j^{1|a} (-1)^j \underline{dv^1} - \frac{2v^1 v\check{v}}{1+v\check{v}} \otimes \dots \otimes v^j \otimes \dots \otimes \underline{dv^a} - \frac{2v^a v\check{v}}{1+v\check{v}}$$

$$= \left(\frac{1-v\check{v}}{1+v\check{v}} \right)^2 \underline{dv^1} \otimes \dots \otimes \underline{dv^a} - 4 \frac{v\check{v}}{(1+v\check{v})^2} \otimes \sum_j^{1|a} (-1)^j \underline{dv^1} \otimes \dots \otimes v^j \otimes \dots \otimes \underline{dv^a}$$

$$= \left(\frac{1-v\check{v}}{1+v\check{v}} \right)^2 \underline{dv^1} \otimes \dots \otimes \underline{dv^a} + \frac{4}{(1+v\check{v})^2} \sum_j^{1|a} \underline{dv^1} \otimes \dots \otimes v^j v\check{v} \otimes \dots \otimes \underline{dv^a}$$

$$= \left(\frac{1-v\check{v}}{1+v\check{v}} \right)^2 \underline{dv^1} \otimes \dots \otimes \underline{dv^a} + \frac{4}{(1+v\check{v})^2} \sum_j^{1|a} \underline{dv^1} \otimes \dots \otimes v^j v^j \underline{dv^j} \otimes \dots \otimes \underline{dv^a}$$

$$= \underbrace{\left(\frac{1-v\check{v}}{1+v\check{v}} \right)^2 + \frac{4}{(1+v\check{v})^2} \sum_j^{1|a} v^j v^j}_{=1} \underline{dv^1} \otimes \dots \otimes \underline{dv^a}$$